Lampiran 5 116
Tabel Hasil Analisis Butir Instrumen Variabel X

N=20, a= 0,05 , maka angka kritis r= 0.444
BUTIR SOAL | HASIL KOEFISIEN KORELASI | KETERANGAN
1 0.504 VALID
2 0.594 VALID
3 0.292 DROP
4 0.573 VALID
5 0.546 VALID
6 0.513 VALID
7 0.396 DROP
8 0.602 VALID
9 0.498 VALID
10 0.492 VALID
11 0.786 VALID
12 0.620 VALID
13 0.667 VALID
14 0.474 VALID
15 0.085 DROP
16 0.467 VALID
17 0.257 DROP
18 0.610 VALID
19 0.629 VALID
20 0.601 VALID
21 0.472 VALID
22 0.793 VALID
23 0.599 VALID
24 0.638 VALID
25 0.656 VALID
26 0.636 VALID
27 0.463 VALID
28 0.817 VALID
29 0.683 VALID
30 0.739 VALID
31 0.867 VALID
32 0.728 VALID
£8 0.041 DROP
34 0.461 VALID
35 0.765 VALID
36 0.629 VALID
37 0.596 VALID
38 0.469 VALID
39 0.792 VALID
40 0.494 VALID
> VALID 35
> DROP 5




